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im BEER BEER Tyl |AERER
(em) | (w19 (em) | (qigpmy | PSR | (om) D |em| @ |em| @ |em| @ |(m (s | RIERR
50cm 0.18 - 0.27 0.10 - 0.20 0.21 - 0.18 - 0.19 - 0.20 - 0.19 - 0.19 0.22
875 =1y REE |ZERE—REM 35268 [¢)
1m - - 0.22 - - - - - 0.22 0.22
50cm 0.23 - 0.28 0.13 - 0.26 0.18 - 017 - 0.20 - 0.21 - 0.19 - 0.19 0.19
876 =#HT REE |=HEE_RER 3A268 9}
1m - - 0.18 - - - - - 0.18 0.19
fREBE
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877 =HHT REE | ARFEEEHVVREER [38268| 50cm 0.37 0.29 0.27 0.25 [EFM] fERsmAD
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50cm 037 - 048 0.22 - 0.26 0.18 - 0.26 - 0.25 - 0.27 - 0.29 - 0.25 0.28
878 =1 REE |=EECLRER 35268 [¢)
1m - - 0.22 - - - - - 0.22 0.26
50cm 0.18 - 0.14 - 0.11 - 0.11 - 0.13 - 0.14 - 0.14 - 0.13 0.12
879 =& HE ZERT DB HE 3A268 O ([[EMIERAO] HRAEBROO, ERAEHEREL
1m - - 0.11 - - - - - 0.11 0.11
50cm 0.31 - 037 0.28 - 0.31 0.24 - 0.25 - 0.24 - 0.24 - 023 - 0.24 0.25
880 =1y HHE | ZELETIHEERE 35268 [¢]
1m - - 0.23 - - - - - 0.23 0.25
= = _ 50cm 0.19 - 0.23 017 - 0.24 0.16 - 0.20 - 0.23 - 0.23 - 0.24 - 0.21 0.24
s | zgm | gmm |SEUOREEILEI) .00 BEENE . B PR A
1m - - 0.16 - - - - - 0.16 0.19
50cm 0.21 - 022 0.19 - 0.19 0.20 - 0.22 - 0.23 - 0.23 - 0.19 - 0.21 023 s g = s N -
w2 | ZHEE | 4ME |BRAGEESESE (3828 FUOREEOMA L VRAIAE
[EM] mkEbARn
1m - - 0.18 - - - - - 0.18 0.21
50cm 0.17 - 0.21 017 - 0.25 0.17 - 0.16 - 0.18 - 017 - 0.18 - 017 0.17
883 =0T HHE |=HHHE 3A268 9}
1m - - 0.16 - - - - - 0.16 0.17
50cm 0.21 - 022 0.14 - 0.17 0.11 - 0.12 - 0.13 - 0.11 - 0.12 - 0.12 0.12
884 =1y INFRE | SHETIL PN 38268 o
1m - - 0.11 - - - - - 0.11 0.10
50cm 0.31 - 0.29 0.22 - 0.36 0.20 - 0.21 - 0.19 - 0.19 - 0.19 - 0.20 0.18
885 =3 INFRE | SHEIPENER 38268 o
1m - - 0.18 - - - - - 0.18 0.19
50cm 040 - 044 0.16 - 0.26 0.16 - 0.25 - 0.23 - 0.21 - 0.18 - 0.21 0.20
886 =1y INER | EFBLGLETNAR 38268 (@]
1m - - 0.14 - - - - - 0.14 0.16
50cm 0.16 - 0.20 0.15 - 0.15 - 0.16 - 0.18 - 0.19 - 0.18 - 017 0.17
887 =& INFER ZHELZFNER 3A268 O |[REO] FRAZTHRDO, FIEAEHEREL
1m - - 0.15 - - - - - 0.15 0.15
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im AEEE AERE THfE |HEER
(em) | (w19 (em) | (qigpmy | PSR | (om) @ lem| @ |em| @ |em| @ [@em (s | RIERR
50cm 057 - 062 0.25 - 047 0.19 - 0.23 - 028 - 0.18 - 0.19 - 021 025
888 =& INEER ZERTEARNE 3A26H (o)
m - - 0.20 - - - - - 0.20 021
50cm 024 - 028 0.15 - 0.18 0.19 - 0.17 - 0.18 - 0.17 - 0.18 - 0.18 0.20
889 =00 INEE | EFBLGLRANER 3A268 (@]
m - - 0.17 - - - - - 0.17 0.15
- " _ 50cm 0.19 - 023 0.17 - 024 0.16 - 0.20 - 023 - 0.23 - 024 - 021 024
so | zgm | g |SEMIFREILHI R0 BRI, B PR A
m - - 0.16 - - - - - 0.16 0.19
891 =& PR | SHEIERPER 38268 im 0.36 - 0.39 0.23 - 0.31 0.16 - 0.22 - 0.16 - 0.22 - 0.19 - 0.19 0.19 [¢)
892 =& PR | SHBILERPER 38268 im 0.29 - 0.31 0.17 - 0.29 0.12 - 0.14 - 0.15 - 0.12 - 0.15 - 0.14 0.12 [¢]
893 =& PR | SHELETIPER 38268 im 0.56 - 0.56 0.33 - 0.58 0.17 - 0.20 - 0.32 - 0.33 - 0.21 - 0.25 0.26 o
894 =& R | SHEL=HPER 38268 im 0.20 - 0.22 0.12 - 0.15 0.17 - 0.14 - 0.19 - 0.17 - 0.15 - 0.16 0.16 o
895 =& PR | SHBELRBPER 38268 im 0.26 - 0.30 0.19 - 0.27 0.17 - 0.22 - 0.19 - 0.20 - 0.22 - 0.20 0.21 o
896 =& R Egg?ﬁ&‘(ﬂ%jb_*{ 38268 im 0.17 - 0.25 0.18 - 0.23 0.16 - 0.22 - 0.24 - 0.23 - 0.26 - 0.22 0.24 EREBTSHHE. SRMAE/NPREARA
897 =& =1 ES TN 38268 im 0.32 - 0.32 0.24 - 0.33 0.68 - 0.44 - 0.32 - 0.33 - 0.44 - 0.44 0.46
898 = FeRk |BEREIFMPRK 3A268| 1m 036 - 040 - 024 - 027 - 042 - 043 - 047 - 0.37 044 E f;[é DE’;’] s
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